Gl-Mb-lesson b

1. Find the mystery nurhbers. Use the arrow way to show how you know,

a. llessthanb0is 49 .

tens | ones fens | ones

There are 5 tens and 0 ones in 50. | can write \\
that in the place value chart on the left. 1 less
than 50 is 49, From 50t 49, | subtracted 1. {
can draw an arrow from the first place value
chart to the second and write —1 ahove the
arrow. In this case, when ifound 1 less, both

\\_’fhe tens digit and ones digit changed. /

b, 10morethanb0is &G .

tens | ones fers | ones |
+10 -

‘\\

10 more than 50 is 60. From 50t060,1
added 10. 1 can draw an arrow from the
first place value chart to the second and
write 410 above the arrow. Only the
tens digit changed this time from 5 tens
{o 6 tens:because we added 10 more.
The ones digit did not change.

,/

2. ‘Write the number thatis 1 more..

a. 60, &1
b. 79, 86

3. Write the numberthat is 10 fess.

a, 70, &
b. 82, 74

When | find T more or 1 less; sometimes
only the ooesdigit changes, and sometimes:
both the tens and ones digits change.

within 100,
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lgentify 10 mdre, 10-1ess, Linote, and 1 loss thah 2 twd-digit Almber-

| nead to read the directions
carefully to know when | am
adding 1 more, 1 less, 10 maore,
ar 10 less.
J/




